$ %" & '
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- 0B, 0B, 0B
. B = L Yy d =0
v ox + Ay 0z
+
F U F=
F=<F,F,F.> U
)
. - ou - ou - ou
F:_ U Fl:_—7 = T z— T a_
v — oz’ Y dy 0z
% )
) 1
(%
S i
$ v $ S (
S *
dy 9 . . . .
1.) =7 +y+sin(z) independent variable z, dependent variable y
x
d .
2.) d—? =2’ +t+3 independent variable ¢, dependent variable x
d
3.) d—; = se’ independent variable 0, dependent variable s
] ! 0 * 1 *
22 2* 3 '
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#
d*y  dy .
4.) 2 + T +y= second order, linear, constant coeff., homogeneous
5)y" +y + 1%y =t third order, linear, nonhomogeneous
6.) y (t) =y n-th order, linear, constant coeff., homogeneous
$ ! "5 - -
IR RS 5 j.-. GDE de endesch var, = B
B wemy 1ok e 06, e
: Yy ® oo © linewr oDE = dop-var =Y
Xg;);‘-k{;&)(‘*_xy_o Pz IMJMI e / iﬂdep.uﬂf'&x:

21N ] . nd =
- + kN 2%, 4. PDE
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2> =5r+6=(r—2)(z—3)=0 T =2 r =3
$ P #3$%" &

F(z,y. vy, ....y"(x)) =0 f

F(z, f(z), f'(2), f"(2),.... [ (2)) =0
7 $
$
8 f(x)=2a? f & =2 I =2
8 glx)==u g b =2 99 =142
fo y=a? Y
r & "
8 a?+y’=4 P=_2
24+ 2yP =0 — FL=-FL=_=
Y T

y=vid—a> y=-vi-uz?
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dx dx
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$ ;

[ =y = = so)

' 4
4
%:2:1: y=a>+C ;
%:_a 224y =R
0:02 ;
0:00 %
%< x 7
$
ol
(0: 2* - , L= flx)gly) = [9y)dy = [ f(z)de
= ea:p(fpda:) 7
(0:>*2 ' "
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di "o :
™ = G (x) {y)
Ta whice o5z wie Can Sqauda the variuwbles
L. bx) X
fen B
Ad Vo ‘a.n:\mﬁlsiﬁ.
d¥v
f = §30dx
Wihen yeu Lon mthh&a b Ahage ndewsfods tHhie w:l_i
plicitly, (ond fometme @plicitly) defne ¥ in dermy
of X; Hok Memat Y ew Lownd .ﬂ»j‘dﬁf
V£ J"?‘ 2 F O (x} £y dx © Chavinyon, . voainbloe do X
} j :F—"_‘;} iz S ~fiy) dydza%mﬂv) dx by assnimpHoi
= )X
53 I

@ Q_‘_f = kY = %—f = kedt Hem [i"‘.’lr'e)‘alfa?ﬁfd g
dt
S-“LY- = Sknl’c' = MY =kt+cC (Impticid £a/%/
Yy A

R V) = ekf i eceka‘ ::Z}g e[t_, Vis. __.‘-"'[-:‘)7 (expled 5/e)
If Y@ =3 Find the n/°

Y{ra) & % ek(o) :f’;g“;: __%f =3 }/(‘/f‘) = .?ekf”
6’2;‘; é w«{% ‘/; .f.;' Cgl)c.zzj ﬂasfs-ﬁ"‘én /femj

e-——-——'psma(é: jz - @ &pﬁnm‘f{?wqﬂ jfﬂw;ﬁ( ej‘d' FHere sn hrs
jo e O wnpaimtid Sicwy gy ° later /)J
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E gg a_x+v i #f\d .'.\."ollc' 'H‘lfu _!elp, G'F Umrfaﬁéltw

dedy = SG-de 2 Sepecete Hhen infegrotn.;
] ¥ | P

i [1 —

A i V=

= e g i x A Ty
o - Qx Gt fﬂf&}C_ = €~ 0. : Wand e Selue Hur }"

Qn(ﬂ-?“} = Er, (C - {1"“) TS T f:.-r-.ncio-u to insure we ore Jm.h{rgj
dha Jn of posibue gquomvtides |
_ ! Thod s why we meved tha
Y ha(a) = Ra(c -a”) winve Sign’ ke Mu obhan sids,

E - = ﬂlﬂ (C-&K,l r
Infa) |
and can enlu be Ipecfiic.j Iy

Ntri-nu -Hmmb C o arbday .
We  supply further demands (an inbied o beandery condiFioa )

Exl il .. Pa sl ;r;-n;,""';:F:“:};,,*{Q};?;_fg','
O - AT R

2 dm i (2(9 + Seczﬁ)de '3 S&pem.qu,'f \.rnriu.-b[ng;; Now i.n-l‘eam:&j

Z
W= e+ T8 + C tan implict sol%

an explicit gl

% U= 4o 0o

'U(O) = "._.'"',‘ o< -5
e Bl Toi I ( Most cheose negative s9of s0/% )
D w2

E(@) = -+ +ume + 25’7 |
[ ———t
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(ET] Fint impticit cr® o 2. il

L R '.“Aéz;;f::im ‘
j(?’"'+ YW 23)dv = Jcos (x) dx e

vy - : ‘
f;' Y o+ El' y3+ 23Y = sin(x) + i thic rmpﬂ'c:rf%_
Safves Hhae :DE_? 3‘

Here we cannot simply sl K Y 45 . Fnet. o-./)('. The

A ;
sl & AUl urefun/ be coure ¥ describer hows X & ¥ are
refm‘!eo‘ a!ong tha sal” Carves 7?:::5#' Lo %w'/é’uhn, LA
— el e/ 1
dY
W =0 = R0

y‘:‘_‘_ yz_'_z? - O
- Cﬂ)S{'X)mO

= [x‘ =tL 23 oW
2y DU ‘5“*'“??,!’]6-2;{

s s NS

Sriela
s e 'Lf('“ - Y4y = (1-x*)dx =y
: . ? | i -i“‘ [ &
inbeqrrking beh S = x-%+c] (FNEu")

@.dl w o 85 YRd ='5% = [y = Jalxl + ¢ |
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29%D dy _  sec?(y) a¥ . tdx sk 2
l'BC_ > | +w =%>5"5e.:,‘£)f) i S’H-:a(2 note secty T e ~ly)

S 2 = gcgs‘)’dy 2 3—;_-(|+(,as(2>’})cﬁy = (Y + 3'_—501(23’))‘\" c
14-1;(’ d = o' (x) + C &) “!‘r:k;cfen*{m.

Tha we Fond (Y + oilzy) = dl'la) + c]

:g_an@ dv 1= YE 2vdv d :
de = v =2 W = -:-}-j-i Hran can.ucf.m,
BV . 3zdu _ _3 : s
2 = [ <2 huiec =Ll

U= -yt |
d- - svdy)  Hhs 2 nlt-4vY = 8nix| *c |

S Bl Ured o vy = (o s xe2)dx
X

ay + 1 ;
- = Yy = XPrzxisex +C

D T S e P B

o) = -1 = () ’;,: = 0+ 20c)+ 2(c) + C = =06/
thecefoce the  sol® with ‘éfqi'-' -] s JY%Y = X7+ QX+ x

#
2 3.3% D !
ED Y < s T [ <o

&y s
S T = o +C = AT +C

5 du
{9+ ~JuC |
Hhin = & ;
iio adﬁf_i(;}il/) : o 9‘4"}-#—{ + C = 291!"’.‘ (X)

We knew (M) =¢ = 2405 +C = 2sin(mT)
= 2+ =0 =S C =-2

=§E}T\[~?ﬁ'.ﬁa = ’;Lsin(x)j
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{i}(al,—y, = e’y and [sectydy = 4n tv)+c) Hea () = g_ % hw[%l_?@@_tc_
New (W) =1 s H—m (¥y) = w4+ 1}

P =80 5 ey = Bodx e
= ax"+C

BWOI=0 B> L& = 20)"c. » L=a+c » c=-3
s [Te? = 2x" - -g._/ s T Ad Ba eclicd sal™

for Hhis ons, e e Yy M _o & 9 = Mn (4Yx¥- =)
S Y= Ju(JixT-3 )/

g =x*(l+4) = X%- = SX*?dX = Ilisyl = X°

Now 40)=3 = Jy /'7’}"‘ o tc ,C=ﬁr7/‘a;‘)__ her
_/fn//*‘#/ = -%—X?»Ljn/ﬂ} ‘

Giava) Vidx+ (1+x)dy = =>fd‘4jolx
- +lirxdy =0 = [db

| +x

Hawss lﬂ*&tbﬂ&ma— weldd 2]y = =fnli+x| + ¢
‘Tkm wo)=| = 2= —J’n(l)+c =c ~ (249 = —M+x;+'a}
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